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<latexit sha1_base64="7Yxs271ETATZiQkLftxQiQA2dBo="></latexit>

E = �d�

dt

f.e.m. combate variação do fluxo

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Lei de Lenz

 

<latexit sha1_base64="7Yxs271ETATZiQkLftxQiQA2dBo="></latexit>

E = �d�

dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Lei de Lenz

 

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

R
x

h
~v

<latexit sha1_base64="7Yxs271ETATZiQkLftxQiQA2dBo="></latexit>

E = �d�

dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Indutância

 

E2

I1 ~B

<latexit sha1_base64="QeVIIOONly5talqlYiudI3vay/k="></latexit>

�2 =

Z
~B1 · n̂ da2

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

E2

I1 ~B

<latexit sha1_base64="QeVIIOONly5talqlYiudI3vay/k="></latexit>

�2 =

Z
~B1 · n̂ da2

<latexit sha1_base64="SLqLRQOrUpN40pfFfLA1Llh2yGk="></latexit>

�2 =

Z
~r⇥ ~A1 · n̂ da2

Eletrodinâmica

Indutância

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

E2

I1 ~B

<latexit sha1_base64="QeVIIOONly5talqlYiudI3vay/k="></latexit>

�2 =

Z
~B1 · n̂ da2

<latexit sha1_base64="SLqLRQOrUpN40pfFfLA1Llh2yGk="></latexit>

�2 =

Z
~r⇥ ~A1 · n̂ da2

<latexit sha1_base64="9K3/cFWGCB92T3wNPTaryWc7qOg="></latexit>

�2 =

I
~A1 · d~̀2

<latexit sha1_base64="n1fU7axgFmDQTUQ/DeWhhXXQwNM="></latexit>

~A1 =
µ0

4⇡
I1

I
d~̀1

Eletrodinâmica

Indutância

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

E2

I1 ~B

<latexit sha1_base64="QeVIIOONly5talqlYiudI3vay/k="></latexit>

�2 =

Z
~B1 · n̂ da2

<latexit sha1_base64="SLqLRQOrUpN40pfFfLA1Llh2yGk="></latexit>

�2 =

Z
~r⇥ ~A1 · n̂ da2

<latexit sha1_base64="9K3/cFWGCB92T3wNPTaryWc7qOg="></latexit>

�2 =

I
~A1 · d~̀2

<latexit sha1_base64="n1fU7axgFmDQTUQ/DeWhhXXQwNM="></latexit>

~A1 =
µ0

4⇡
I1

I
d~̀1

<latexit sha1_base64="jWMztkp0/aBlTgLQwkG2iB60iVo="></latexit>

�2 =
µ0

4⇡
I1

I I
d~̀1 · d~̀2

Eletrodinâmica

Indutância

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

E2

I1 ~B

<latexit sha1_base64="QeVIIOONly5talqlYiudI3vay/k="></latexit>

�2 =

Z
~B1 · n̂ da2

<latexit sha1_base64="SLqLRQOrUpN40pfFfLA1Llh2yGk="></latexit>

�2 =

Z
~r⇥ ~A1 · n̂ da2

<latexit sha1_base64="9K3/cFWGCB92T3wNPTaryWc7qOg="></latexit>

�2 =

I
~A1 · d~̀2

<latexit sha1_base64="n1fU7axgFmDQTUQ/DeWhhXXQwNM="></latexit>

~A1 =
µ0

4⇡
I1

I
d~̀1

<latexit sha1_base64="NbREaNaQUjOu+/EeLll9aZoPW5U="></latexit>

�2 =
µ0

4⇡
I1

I I
d~̀1 · d~̀2 = MI1

Eletrodinâmica

Indutância

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

E2

I1 ~B

Eletrodinâmica

Indutância

<latexit sha1_base64="1dbT/HTTpBZd/NhDXaR6CO5gqX4="></latexit>

�2 = MI1

<latexit sha1_base64="E2wpgRRfRoOGmZ/8ogs9OSAUqAA="></latexit>

E2 = �M
dI1
dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


 

L

Eletrodinâmica

Indutância

<latexit sha1_base64="1dbT/HTTpBZd/NhDXaR6CO5gqX4="></latexit>

�2 = MI1

<latexit sha1_base64="E2wpgRRfRoOGmZ/8ogs9OSAUqAA="></latexit>

E2 = �M
dI1
dt

Auto indutância

<latexit sha1_base64="P8OlbxnqoaZh6eruHCqYcrv9P9I="></latexit>

E = �L
dI

dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Pratique o que aprendeu      


 

L

<latexit sha1_base64="FVueQCIs7AdvhLv9NQSwvgA9hJk="></latexit>

E = �L
dI

dt

L = ?

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Pratique o que aprendeu      


 

L

I

<latexit sha1_base64="FVueQCIs7AdvhLv9NQSwvgA9hJk="></latexit>

E = �L
dI

dt

<latexit sha1_base64="bgZ/E7A282X6JpAxVYl3gy2/DUk="></latexit>

B = µ0

N

`
I

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Pratique o que aprendeu      


 

L

I

<latexit sha1_base64="FVueQCIs7AdvhLv9NQSwvgA9hJk="></latexit>

E = �L
dI

dt

<latexit sha1_base64="bgZ/E7A282X6JpAxVYl3gy2/DUk="></latexit>

B = µ0

N

`
I

<latexit sha1_base64="7+C3/2DVfKgWLXKD3RAc+SFsa0E="></latexit>

�
1 espira = µ0

N

`
I⇡a2

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Pratique o que aprendeu      


 

L

I

<latexit sha1_base64="FVueQCIs7AdvhLv9NQSwvgA9hJk="></latexit>

E = �L
dI

dt

<latexit sha1_base64="bgZ/E7A282X6JpAxVYl3gy2/DUk="></latexit>

B = µ0

N

`
I

<latexit sha1_base64="7+C3/2DVfKgWLXKD3RAc+SFsa0E="></latexit>

�
1 espira = µ0

N

`
I⇡a2

<latexit sha1_base64="qpYKGNQkCi2zDeGxcXblsFakzh8="></latexit>

� = µ0

N2

`
I⇡a2

<latexit sha1_base64="AaXdn+3WNKoposPyjnS2jRAOEAc="></latexit>

E = �µ0

N2

`
⇡a2

dI

dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Pratique o que aprendeu      
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